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1 Fill the gap by choosing the best answer.America is ......... at the front of the race to become
the world's most obese country

A. underling
B. underbelly
C. undecidedly
D. undeniably

2
Choose the correct option to complete the sentence.A look of ......... came over Nancy's face
when the verdict was announced. She now wants tomeet with lobbyists who work to change
laws for the betterment of society

A. Disgust
B. deform
C. discussed
D. disperse

3 Fill the gap by choosing the best answer. International restaurants in Singapore are .........
adept at simultaneously perfecting both eastern and western dishes on their menus

A. partly
B. particularity
C. partially
D. particularly

4 Fill in the blank with appropriate phrasal verb.The liver regulates most chemical levels in the
blood and excretes a product called bile, which helps ......... waste products from the liver

A. carry over
B. carry on with
C. carry away
D. carry through

5
Fill in the blank with appropriate phrasal verb. Finland and the Finnish upper secondary
education system constitute a good example of the fact that it is possible to ......... very
extensive readjustments with a view to making a system more flexible and adapted to
individualized learning.

A. carry away
B. carry through
C. carry on with
D. carry off

6 Fill in the blank with appropriate verb given below.She ......... on trying to pass her driving
test but fails every time

A. had kept
B. is keeping
C. keeps
D. kept

7 Fill in the blank with appropriate verb given below. ......... Any one objects if I turn the heating
down?

A. Doing
B. Does
C. Did
D. Do

8 What is true of the following sentence? "When, crows flew

A. It is a compound-complex
sentence
B. It is a compound sentence
C. It is a sentence fragment
D. It is a comma splice

9 Emerging in the spring or summer as an elongate, brownish to black beetle, the grub with its
velvety body __________ in length from 9 to 10 mm

A. range
B. it will have ranged
C. which has ranged
D. ranges

10 Choose the best answer from the given options.Why is the baby crying? _____ she is
hungry _____ her nappy needs changing

A. Neither nor
B. Either or
C. Neither and
D. Either nor


